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Name Date Period

DIRECTIONS: In the following diagram, BE 1 ;4_6’), BD 1 1—37'), maDBE = 5x, and
mAEBF = 3x — 6. Find the value of x. Show your work.

1.x-=

™
q

DIRECTIONS: In the following diagram, BF L AE , m&BOC = 30, and
m#AGOH = 45 . Find the measures of the angles.

2. maCOH = 1

By

¢
3. mAHOF = b
oz A N
4. mADOE = 0 E
H
5. mACOA = ¢ F
L
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DIRECTIONS: Name the definition, postulate, theorem, or property that most
accurately justifies each statement. Use the following diagram.

A

6. CX + XD = CD

7. If X is midpoint of AB , then
AX =-AB

8. Z3AXC = 4DXB

9. If XE bisects £CXB , then
ma1l = msa42

10. mAAXE + mAEXB = 180

11. XE =XE
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DIRECTIONS: Name the definition, postulate, theorem, or property that most
accurately justifies each statement. Use the following diagram.

Y

12.

xll

13.

14.

15.

16.

17.

18.

v

Ifma4 =~ (maMIL ), then Ij
bisects AMIL

If MG L KL , then m45 = 90
ma3 +ma4 = maAMIL

If m&5 + mA4 = m46 + ma4,
then m45 = m46

If 45 and 4.6 are right angles, then
45 =46

If KI = IL , then I is the
midpoint of KL

If KI = IL and MI = IL,
then KI = MI
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DIRECTIONS: Supply the missing reasons.
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19
R S T Given: RT = WY;ST = WX
l;l/ )'( v Prove: RS = XY
1. RT = WY 1.
2. RT = RS + ST; 2.
WY =WX + XY
3. RS+ ST =WX+ XY 3.
4, ST =WX 4,
5. RS = XY 5.
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A B
_F 3 1 ¢ . Given: 41 = 42
) - 4 X 2 ) 0 —_—
Prove: XF bisects 4AXE
E D
1. 41 =42 1.
2. 41 = 44, 2.
42 = 43
3. 43 =44 3.
4. XF bisects 4AXE 4.
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Q v Given: 0Q L SV;
OR LPT
2 3
1 Prove: 41 = 43
< 0
R
4
5 T
A3
1. 00 L SV; 1.
OR L PT
2. m4Q0V =90 ; 2.
mAROP = 90
3. m4Q0V = m42 + m43; 3.

. 90 =m42 +m43; 4.

. 42 and 43 are comp 4s; 5.

m4AROP = m41 + m42

90 = mg1 + ma2

41 and 42 are comp 4s

. 31 =43 6.
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E F Given: #3 and 42 are supp 4s
1 2 3 Prove: 41 = 43
¢ —
B C D -
5. 43 and 42 are supp %s 1.
6. mal+ma2 =180 2.
7. 41 and 42 are supp 4s 3.
8. 41 =43 4,




